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QUESTION 1

A four-wheel vehicle driving on all four wheels is known as a

A . 4x2

B.2x4

C.4x4

D.4x6

Correct Answer: C

A four-wheel vehicle is called a 4 x 4 if all wheels are driven.

One with six wheels with all six being driven is called a 6 x 6, and one with six wheels (like a truck) but only

four being driven is designated as a 4 x 6.

QUESTION 2

In arc welding, TIG stands for

A. Turner Insertion Gas

B. Tungsten Inert Gas

C. Torch Inert Gasification

D. Tin Impressible Galvanisation
Correct Answer: B

In arc welding, TIG stands for Tungsten Inert Gas.

QUESTION 3

In order to change a tire, a must be used to lift the bottom of the car.
A. jack

B. socket wrench

C. hoist

D. boom truck

Correct Answer: A
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QUESTION 4

Pouring cold water on an overheated engine

A. reduces damage caused by overheating.

B. makes no difference.

C. should only be done by a qualified mechanic.
D. could cause the engine block to crack.

Correct Answer: D

QUESTION 5

A bucking bar is used to
A. pull nails

B. pry wood apart

C. drive rivets

D. drive screws

Correct Answer: C
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